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(1) KNOWLEDGE RELATING (1) ST F1 Haielt

ACCOUNT

1.  Trial Balance discloses : 1. T Y HIET T ¢ -
Ay —EBrrorsof Omission — (A) ®Z 9 # owied

(B) Errors of Entries (B) Wfafte grereit swyrfgal

(C) Errors of Principles (€ Hsit<e swgfsar

(D) Errors of Balances (D) St (I) =+ erggfgar
2. A Trial Balance is a proof of : 2. OIS YA ¥

(A) Arithmetical accuracy of account (A) @l ST <hl

(B) Honesty of accountant (B) <rEIet Wt

(©) Accuracy of books (C) Y=l HI gm@

(D) Honesty of book keeper (D) Wﬁ?&m EQl

| O

3.  Which of the following errors is not 3. o el aeUe g g

disclosed by Trial Balance ? ?

(A) Compensating Errors styfgat

(B)  Errors of Principles * REA(EED srgfeat

(C) Errors of Omission @(C) I W syfgat

(D) All of these & (D) 39 weft

4.  When a entry is made in Jourga 4. 9 o H giafe s 9wl Qo

(A) Assets are listed firsiQ . (A) e sRemafadl &1 giaem fwar s
2l
(B) Accounts to@d listed first. (B) oW @rd = 9@ T A TR "R
(C) ' Accounts to be credited listed first. (©) 59 @[ =l s F | ST Tw
foran s &1
(D) Accounts may be listed in any (D) Teslt +ft @ =t vge fomn st 2
order.
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5. Due date for bill written on 15 July for
3 months will be :

(A) 3" September
(B)—4th October

5. U IO M AIE o fog foe e fae
T el B

(A) 3 faaR
(B) 4 ¥

(C) 5% November
(D) 15t October

6. Voluntary liquidation of a company
related to :

(A) Director’s voluntary liquidation
(B) Members voluntary liquidation

(C) Liquidation by members and
creditors

(D) Liquidation by director and debtors

7.  The maximum number of people in Joi

Venture can be : .

(A) 10 @
(B) 20 Q

(€ 50 &

(D) unlimited o

2

8. Accordi xn concern concept, a
business ‘entity is assumed to have :

(A) along life

(B) ashort life

(C) avery short life
(D) a definite life

(©) 5w
(D) 1 3R

6. HU H WS Y THGT Y SWE BT R

(A) G J FHH

(B) E

(©) | SFIERI T =31 ¥ §HIOA
&@Wﬁﬁ@m@w

G 9red H st st siftreran den Bt
®:

(A) 10

(B) 20

(C) 50

(D) oTeifha

8.  e] SAUME STAYNUN & ITTAR IE WHI Sl

2 for oTaE™ 1 i

(A) Srefere S g

(B) STEUSRIGI Sia B
(C) fd STeTeIet i
(D). fafeer sfter g

SPACE FOR ROUGH WORK / T% &4 & ford sg

Set - A

0812/MD-BDD/RCE-MA



9.

10.

11.

12.

Cheques is :
(A) Business format

(B) Banking Document

(CT Bill oﬁxch—ange
(D) None of the above

Which of the following equation is related
with dual aspect concept ?

(A) Total Assets=Total liabilities

(B) Total Assets= Capital + Outsiders
liability

(C) Capital =Total Assets —Outsiders
liability =~

(D) Al of these

Single Entry system is :

(A) Complete

(B) Incomplete and Unscientific
(C) Scientific
(D) Arrange

Pass-book debit% show :

(A) Amount Deposit in Bank
(B) Bank Overdraft
(C) Bank Interest

(D) Bank expenses

L 4

10.

12.

O
Or
@

AR T .
(A) T ARE Fu

B wTEdEFIERm

(C) Tafma wrer oo
(D) =99 9 ®E T

HIT 91 gHR fg-gafta sreryron § getg

?7?

o goTet! ¥
(A) o

(B) 31Ul & TR
(©) aifrh

(D) =afd

- <1 W Y geiiar
(A) S 5 ufyr

(B) & srfufawd

(C) %=

(D) & =g
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13.

Expenditure for getting license for
running cinema hall is :

(A) Revenue

faamn g wom & fou TRE W T R

(A) TR

14.

15.

16.

(B) Capital
(C) Investment
(D) Adjustment

Which of the following is a Personal
Account ?

(A) Bank Account

(B) Rent Account

(C) Purchase Account
(D) All of these

Capital Account is :

(A) Personal Account .

*
Pass Book is & ¢
(A) Cop§ transactions in the

(B) Copy of customer’s account
prepared by the bank

(B) Impersonal Account
(C) Real Account
(D) Nominal Accou

(C) Copy of business receipts and
payment

(D) None of the above

(B) ‘Z}J?I‘m — —

() fafeEm
(D) GHTEASH

et | =59 W o AE R ?

(A) &%

®B) .
(C el

@ aft

'@l?ﬂ%
(A) =afETa @
(B) sreafERIT @
(C) arafass @l
(D) I = @Il

T TFE Y

(A) U =@ ¥ qF grel reRrl W
THA

(B) e gRI U % IR T WA i THA

(C) =Tau™ I It W& WA & Thd

(D) s ¥ | w0 T
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17.

18.

19.

20.

Which is not a Subsidiary Book ?
(A) Purchases Book

(B) Sales Book

{C) Bills Receivable Book

(D) Assets Book

In which Assumption Business is totally
separate and free from the businessman ?

(A) Accounting Owned Assumption’
(B) Accounting Entity Assumption
(C) Going Concern Assumption

(D) Accounting Period Assumption

Shobhit and Agam were partners sharing
Profit/L in the ratio 3 : 2. Nikhar was

admitted for 1/5 of share in P/L. The ¢

New Profit/L Sharing ratio will be :
(A) 12:8:5
(B) 8:12:5
© 2:2:1

(D) 5:8:12 \'Q
Record is mam&dm purchase book :

(A) After deducting trade discount
(B) After adding trade discount
(C) After adding cash discount
(D) After deducting cash discount

,{Q

17. TRIES THF T © ¢

18.

19.

20.

(A) HI
- B TR
(C) v foos g
(D) wufd g

SR 9 Wl @ 7ol w9 @ yuw ¥ 9%

fora A W emenfaa §2
(A) iR @ @
(B) @i 0

(© =g Tl
(D) iy, S

3T WERR & St env-gifT o

3:2% U H w91 Frear 9

/5 9 % fow wd ¥ gy fear
ATY-TIH T AT STIT 1

(A) 12:8:5
(B) 8:12:5
© 2:2:1
(D) 5:8:12

maﬁﬁﬁ@fmm%:
(A) HTIRE T T
(B) AR e S
(©) TH FE SHGH

(D) % g2 R
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21. In case of personal account, the rule of  21.

Journalising are :

(A) Debit the receiver and credit the

SRR @ % ey § s § wfafe s
EIAERLE
(A) W HE I h WA H Sfae a9

giver =
(B) Debit what comes in and credit
what goes out
(C) Debit the expenses and losses and

credit the income and gains

(D) Debit increase and credit decrease

22. Will be deducted from the Capital : 22.

(A) Gross Profit
(B) Net Profit
(C) Gross Loss
(D) NetLoss

balance sheet under the head : ¢

(B) Investment Q
(C) Loan and Advarges

(D) Miscellaneous‘ % diture

2

23. DPreliminary Expenses are shown in tb@.

(A) Reserve and Surplus.

24. Capital Profj & rofit : 24.

(B) Which is received by sale of Fixed
Assets.

(C) Which is received by sale of goods.

(D) Which is received from any
department of the business.

) TEw si\@l@sﬂ I shise
kSl

(B) *TH A %] & WId hl Sfae qem A
Tt I & W 1 hige foran srar §

(C) =T wd T ot Sfee qur ot eiR ey
w1 hfee faran ST &

o

paral
(A) HHhT
(B) am
g
@ﬂmﬁ
wifus = faeagr & = sides & 1A
??TWTSIT?IT%:
(A) w=F T§ i
(B) TafFm

(C) ko1 ud i
(D) fafay =

TSI T 98 T ¥
(A) S I o | W "

(B) < forelt Tomdt Hufd & fosma & ww
F (IR

(C) it HIat & Tk @ W@ & |

(D) i =MR % R fawm & o 2
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25. Accounting is the language of :
(A)
(B)

(C) Accountants

Business

Books of Accounts

(D) None of these

e T ¥ -
(A)
(B) G G H

© cvewet@
(D) o & faneht =0t =

25.

I i

26. Wages of new machinery will be shown 26, 7§ Wl st woigdd gt st
in - .
(A) Wages Account (A) wogd @ H 0@ :
(B) Machinery Account (B) e, T |
(C) Cash Account © ¢
(D) Expenses Account %
27.  Single Entry system is fit for : &‘m oI SU §
(A) Company é (A) FurA % fag
(B) For Co-operative Society (B) HeHRI Hesii & fag
(C) For Government Institdfion (C) TR wsmfr & fag
(D) None of the above o D) THIAFETE
Q v
28. Which one is \élxﬁxpendimre ? 28. Frefafeaa o s =4 ©
(A) Preliminary Expenses (A) TR
‘(B) Wagés and-Salary - (B) o Td gl
(C) Insurance (C) s
(D) None of above (D) v F Y T

SPACE FOR ROUGH WORK / % &t & ferd e
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29. The balance of cash column is : 29.

(A) always debit

(B) always credit

VP TI FI AT MR
(A) T efae
(B) BHWM hfse

(C) debit and credit

(D) none of these

30. The work which is included in 30.

Accounting are :

(A) To record the business transactions
into the Journal

(B) To Post the business transactions
into the Ledger

(C) To Balance the accounts opened in

the Ledger . O
n s (D) =

(D) To prepare the Profit
account and a Balan&
A \

accountant op

(A) Drawcount

(B) Suspense Account

31. If a Trial Balance m agree, then  31.

(C) Capital Account

(D) Nominal Account

€ fee iR wfee
(D) T & FS T

a@maswfam@m%;
O

(A) AP SGRR i SHa § feag

\0
( &wm’ﬁmaﬁﬁ@?ﬁ'—ﬁ
CRGH

C)  wm SE ¥ Wl T Wl 3 9 forehrer

9 &I e T feafa-faeror ar
HET

1T b e 0 e 1o B F I S A E G EC L
‘@Fﬁl%:

(A) SR G
(B) YETH Wl
(© Tl @

(D) T W= I G

' SPACE FOR ROUGH WORK / % & & o swig
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32. The cash book records :

(A) Al cash receipts

(B) All cash payments_
(C) All cash receipts and payments

(D) None of these

33. According to cost concept that the assets

are always valued at :
(A) Market Price
(B) Purchase Price
(C) Current Price
L(D) None of above

X

34.

(A) Ram's A(@

(B)

Cash Account
(C) Rent Account’

(D) None of these

The ‘Rent paid to Ra will not be
opened : \\'

32. Aoe g A form Gﬂ%ﬂ%

(A)  wft T wiftaa

A TR T

@

(C©) @t e wiftara W T

ﬁﬁﬁﬁ% 'S

(D) T q HE T

33.

(A).

&?

(D) 9 ¥ ¢ Tef

aﬁqﬁaw

34, 't ! TRy g’ H wl wren smom

(A) TH & T@ET
(B) % wrEr-
(C) o S

(D). ST § g T

SPACE FOR ROUGH WORK / T & & o s
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35. The Receipts and Payments account  35. WifW W& WM @l Wil €6 aml o)

records receipts and payments of : FffEd T T -
———*(A) Capital Nature only (A) Tk gsit yefa o
(B) Réx}enue Nature only " (B) fak smama yfa o
(C) Both Capital and Revenue Nature | (C g 3R 1T EEQGICI]

(D) None of these (D) T | HE H’é@
36. Purchase of Assets for cash : 36. Hufg ‘@5 Y :

(A) Decreases total liabilities el S

(B) Total assets remains unchanged Pt gufar srafafiy wd €
(C) Increases total liabilities . OQ (C) P TS F5d &

(D) Decreases total assets Q (D) P geafal gedt §

A\ "
37. Accounting Stand&d are formed  37. R W AWiHT YUY S F ST Ha fomal

in India in : \\' T ?
7

(A) Year\Q‘ (A) ¥ 1972
(B) Year 1977 (B) ¥ 1977
(C) Year 1956 (C) 11956
.(D) Year 1932 (D) ¥11932

SPACE FOR ROUGH WORK / 1% &rd & fodl g
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38. According to Full Disclosure Principle : 38. Ul wewdrRtw fagia & TR :

(A) All accounts should be maintained (A) H‘ﬁﬁ'@ﬁqﬂﬁlﬂ@hﬂﬁﬁaﬁﬁﬁm
honesty 000000 OO O
(B) Allimportant information should be (B) W ¥ |t wewqul gen wiiwfea
included in accounts @ﬂ"ﬁlﬂ%ﬁ
(C) All account should be prepared (© | T e AR e WM =ifse
immediately
(D) Accounts should be prepared (D) @ 9E | =feq
carefully
.. O
\ ¢
39. Interest on Capital is : 39. ‘T\Trﬁ ™/
(A) Gains for the business I 3™
(B) Loss for the business I Y e
O

©) | Expenses for the business %
(D) All of these \Q (D) 3 qeft

L 2 ,
40. Interest on Drawing is 5 : 40. 3RO 9T TS o S ©
(A) Debit side Qﬂ. djustment (A) -zt fafreEsT wmm & e gy &
AccountQ
(B) Credit side of P/L Adjustment (B) wy-wif fafrEem @ & Hfee vy
Account |
(C) Debit side of P/L Account (C) wv-gH @R & foe uy o
(D) Liabilities side of Balance Sheet (D) Toar <+ <ifae vy o

SPACE FOR ROUGH WORK / T% &g & @ srg
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41. According to .
contains a‘classified and ‘permanent
record of all the transaction of a business

—————iscalled a ledger.

the book which 41.

% IR 'og 7w e 1w

z*sarrm%:@irﬁt{mavﬁﬁamwﬁmn

foran s &, @ e seaa g

(A) J.R. Batliboi
(B) L.C. Croper
(©) RN Ant}{oney

(D) Smith and Ashburne

42, Balance of Personal Accounts will be 42,

shown :

(A) In Trading Account

(B) In Profit and Loss ALCOUl’It

.
(C) In Trading and Profit and
A/c Q
(D)

In Balame Sheet \

43. With the obmc@mote sales the  43.
customer

(A) Cash disGount .

(B) Cash and Trade discount

©

N

(A) SR SEdEE
(B) TaLH. HIW
SREA, TAGH

foy T

3

W\@% s (W) @ SeorE
A

g #

(D)

Y- Wi |

(C) AR T - e d

D) fagd

Wﬁﬁﬁﬁm%mmﬁﬁm

TR Sz

(B) e Ud A Sz

(C) Trade discount © @JTQTﬁT:F ST
(D) Loan — (D) == ;
SPACE FOR ROUGH WORK / 1% &4 & fod W'
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44.

————(A)—Capital Expenditare

45.

46.

Expenses on repairs of the old office

furniture is :
(B) Revenue Expenditure
Deferred Revenue Expenditure

©

(D) Capital and Revenue both

Meaning of holding company is :
(A) which is making formula.

(B) which is holding any subsidiary

company.
©)

(D)

L
Which column’ & &e are not
calculated in tri \ar cash book ?
(A) Cash (&

(B)

which is protect other &

Bank column

©)

Discount column

(D) None of these

44.

@A) TmeEa

45.

46.

FHATETd & T FEIEL S AOHT S E

(4)

HIE eI HIHA g

Q)

O
which is issued share cap1ta1

(C) < e Yot Fifer et R
(D) N T HEGT HY & B

@ @l arelt Ihe R H W WY A A
& freten ST R ?

(A) THg w9
(B) & W
(C) =& &Y

(D) T | FE Tl

SPACE FOR ROUGH WORK / 1% &td & fod g
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47. Bank recdhéiliétion statement is : 47. &% TFIT%IH faarm 2 .

(A) Account (A) Hran
(B) Subsidiary Books | (B) TEHH TH

(C) List ©

- (D) Statement"

48.- Which is not a current Asset ?
(A) Debtors

- ~(B) "~ Bills Receivable Q

(C) Stock

(C) Wy

(D) Goodwill @E (D) wfa
A\l

A \ )
49. The sub—divisios account is : 49. TR A1 AR QA1 FH & 39-faam ¥

(A) Macﬁéy&a\ccount (A) WA @ '«

(B) Capital Account T | (.B)‘; %ﬁ'@ﬁn
(©) Purchase Account (C) @3B
(D) Cash Account , : (D) . Vs @

SPACE FOR ROUGH WORK / T% &/ & fodl W
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50. Which type of transactions are not
recorded in cash book ? e

(B)
©

Only one venture can sell the goods.

Only one venture can purchase the
goods act applies.
(D) In Joint Venture provisions of

partnership.

50. maﬁﬁﬁa@éﬁ—éﬂﬁﬁ@aﬁ%? ‘

(A) Hg -

—(B) SEW e-&9

L 4

(A) Cash transaction
(B} Credit transaction
(C) Cash and credit both
(D) None of these
51. In which method of Joint Venture

Accounting Memorandum Joint Venture

Account are maintained ?

(A) To maintain all accounts of Joint
Venture in Head Office.

(B) To maintain all accounts of Joint
Venture in the books of one
co-venture only.

(©) To maintain other Co-ventures
accounts and Joint - Venture
accounts in the books of
Co-venturer.

(D) To maintain Personal account o
other Co-venturer in the bogks
all Co-venturers. &

*
52. Which of the followin tement is
true ? )

(A) Only one ‘%&X‘s the risk.

(C) % a IR AT
(D) T ¥ W

51. §IW SUHY @R H AuRven §gw SuwHy

@mmﬁﬁxﬁr@w§
(A) agaamé@ T qUE

wriad J |
(B) wI=

X

Y (D) K UB-UrRdl #t ge § Fae
3T TE-AIRfaEl w1 e @ S |

522 fd s agy?

(A) Fa TF & I SifEm I
gl

FIC TH SUHH A I FHha1 T
T SUGHH! § ATE I 5h T el B

(B)
©)

WY Ged ¥ UERR sifufem ¥
9 AR B ¥

(D)

SPACE FOR ROUGH WORK / Y% & & f3 g
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53. Goods lost by fire ¥ 1,500, claim accepted ~ 53.

by Insurance Co. is ¥ 500. Which are
recorded in trading account ?

(A) 1,500
(B) % 500
(C) ¥ 1,000

(D) ¥ 2,000

54. Maximum number of partners in a 54.

Manufacturing Partnership Firm :
(4) 2

(B) 10
(C) No limit '
(D) 20 %

55. Accounting syst
Non-trading *satxon and
professional in

(A) Single y System
(B) Double Entry System
(C) Mixed Entry System

(D) Cash System

>

&opted by  55.

% 1,500 =1 o1 31 9 T 3o, <tmn et
%500 % 9 WY il <1 =R T A
1 ehe Terdn Stram ?

(&) 1500
(B) T 500
(C) 1,000
(D) ¥ 2,000 @
ww Fmfo H UrERR Y s
HeE el §?
(
10
(©) =S i T
(D) 20
Tr-=maier weansti o U9eR saf| amsd
1 YU 3T % :

(A) THEU G YT
(B) <r®Y @ ot
(©) fufya o yoreht
(D) g ol

SPACE FOR ROUGH WORK / T &1 & foil g
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56. Balances of Personal Accounts will be 56. AfFaT™ @l % onfe HT TG B

shown :
(A) in Trading Account_ S (A) R Em 8 _ _ ——
o —(B)— in Profit and Loss Account (B) w4-wI @ o
(C) in Trading and Profit and Loss (C) =R wE ar9-=If @ §
Account

(D) in Balance Sheet (D) faear# @

57. In the absence of Partnership deed — 57. WRERK WHE INGTW™ A ot W = feam
interest on capital is given : ST R
(A) &% %

(A) 6% per annum

(B) 9% per annum @ 70
5Q

(C) by any rate % ) Tt fi e d
(D) by no rate & (D) Toret ot R -
A\
58. Which account of the fol gwill be  58. W TF H fRT WA W = § § 7 o1 S
credited on giving of gonation ? 1. BRI ?
(A) Sales Accouw (A) Taska
(B) Purchase Account (B) I &
(C) Donation Account (C) TF &
(D) Cash Account (D) e T

SPACE FOR ROUGH WORK / % &1d & ol wie
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59. Mea}ning of Asset is : | 59.” [ o SN ©
(A)l Liabilities — Capital (A) <ifaa—gsit
(B) Assets+ Capi; (B) WE+%
(C) Liabilities + Capital (C) wfaE+ei
(D) Capital — Drawings (D) ﬁ:\?ﬁ—- 3Rl
IS
60. Excess of liabilities over Assets is called : 60. TP R WQ I AT FEeTdl ¢ :
(A) Creditor (
(B) Profit Slk)
(C) Capital . OQ ©) i‘sﬁ
(D) Goodwill % (D) @
&
61. Trial Balance is a Q 61. TR E:
(A) Jou \ (A) s
(B) Nommal Account (B) rfufed @
(C) List of Balance (C) 9 =t =
(D) Personal Account (D) =afgama @
SPACE FOR ROUGH WORK / T &td & fordt srie
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62. A large amount spent on special  62. e 7 A foFar T fodw fammE e ¥
advertisement is :

(A) Capital Expenditure (A GSf@emr
(B) Revenue Expenditure (B) . 3 =T
(C) Revenue Loss (C) ¥ =i
(D) Deferred Revenue Expenditure (D) TR I =g

63. A, B and C decided to dissolve their 63. A, B3R C oot F T )
Partnership firm. They have ¥ 50,000 as frofa ot € Fm":sl'l'b’ﬁ , TR gr feu
surplus after making the payments of T SRON, q JSib T YT H & 9T
outside liabilities and partners loan and mtﬂq ? 0 §S9d 3| 3 A9 A A
capital. They will distribute the surplus YT B
amount :
(A) in their capital ratio T gsit & oTara |

(B) in their profit/L sharing ratio ’E Q) Y/ E % ST B

(C) equally Q (C) TR/
& - (D) w9 RE A

(D) none of these \

64. Object of preparing T Qﬂce is : 64. TRIIS T H IRV T
To know f accounts (A) @l A Y T HEA ‘
(B) To know the Financial Position of (B) oHaHM i faxita feufa Im e
business
(C) To know profit or loss (C) Y = F &<
(D) To know arithmetical accuracy of (D) @I HI SFHIRT Sl J1d w7
accounts "

SPACE FOR ROUGH WORK / T® &1 & o <rrg
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65. Bank reconciliation statement prepared 65. < gAY faaver GuR frar s ¥

by :
(A) By Customer (&) imeh qiar =5
(B) By Bank (B) %@
(C) By Debtor (C) SR EM
(D) By Creditor (D) WER g @

66. Account are maintained in single entry 66. a? FHarfa o W@ W €
system : ' Q
(A) Nominal and Real Accounts W T s o
(B) Cash boék and Personal Account: ) U T w6 AR o
(©) Nominal and Personal ACC&’[O (C) -HHE T8 AfsTd o
(D) All Accounts (D) Wt YR % o

O
O

* . .
67. Which one of th@ng International 67. 'HgW IuHA ¥ fea w1 foxiw wfee’ &

Accounting $ta d is for Financial T TR AEih UHS i A8 ?

Reporti stin Joint Venture ?

(A) 1AS-29 (A) 1AS-29
(B) 1AS - 30 (B) 1AS- 30
(C) 1AS-31 (C) 1AS-31
(D) 1AS-32 (D) 1AS-32
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68. Revenue is generally recognised when : 68. TTHIRIG: 31T I el ERAEE [ERIS G

EEI
(A) Production is completed (A) IARH ‘{‘ﬁ BRI §
_(B) Orderfor goodsisreceived (B} —SE g mORT @RS
(C) Goods are delivered (C) <9 o ! Gl <t ot &
(D) Cash is received (D) T % 1 oI 9T BT &

69. A Customer’s cheque returned 69. T& URH & MENE fog T ?MT S B

dishonoured shall be recorded in cash AT T Dk FHT @ Nger o e

book at : ST .

(A) Debitside of the bank column of the (A) VwsaE® @%“@ Sz gey o
cash book

(B) Credit side of the bank column of (B) UFe 2 & < @ % e v g

the cash book

(C) Debit side of cash column of the
cash book

(D) Credit side of the cash column of

the cash book O
TS

70. Prepaid expenses appearing in the Trial@ derye # feen gdgd =9 &1 F?'@T [EXIl

S WKl ok Uehg @ & hfee uel o

Balance will figure in : S

(A) Trading Account & (A) SR @R o

(B) Profit and Loss Accou (B) TMY-®IH @™ o

(C) Trading Account ¥ L fit and (C) =R G T en9-BIf4 T #

Loss A/c
(D) Balance %\' (D) fagrd

71. Profit and Loss Account shows : 71.  TY-BI @ g §
(A) Net Profit (A) gs &
(B) Net Loss (B) g E
(C) Net Profit or Net Loss (C) Us &Y aYs TAMA
(D) Net Profit and Net Loss (D) ¥& ¥4 T& g 7

SPACE FOR ROUGH WORK / % % & fod e
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72.  Goodwill is : 72. @A

(A) Floating Asset ; (A) STeurh gmfa
(B) Wasting Asset (B) &
(C) Fictitious Asset o (©) e Tty
(D) Intangible Asset (D) od wwfa

73. Meaning of Double Entry System of Book- ~ 73. J&uier @i fg-vfafte yorett %7 o7of ¥ .

keeping is :

(A) Two entries in one book (A) TH & g W i

(B) Two entries in one account (B) THE z@

(C) Entry in both sides of one (C© W& % S U] HI g
transaction \ ¢

(D) Entry in two personal accounts ( 4 @l | gfafe

74. Which of the following accounts is : B 9§ SF-T1 W A G ?

nominal account ?

(A) Interest Account * O (A) = @rdat

(B) Outstanding Interest Acgo (B) SIS =TS @Il

(C)  Accrued Interest Au& (C) 3wiiSia =t @

(D) Prepaid Interest C&nt (D) S =TS @R

* .
L 2 s e
75. Premium receiv@e issue of shares 75. % fiH W yearst w1 it guiEd s

is shown in ; \ q:

(A) Debw%e of Profit and Loss (A) < BT @ & fae, g |
Account

(B) Credit side of Profit and Loss (B) o i @R % T 9 o
Account

(C) Asset side of Balance Sheet (C) faswaufauwd

(D) Liability side of Balance Sheet (D) fag & <foa var d
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(2) COMPUTER RELATED (2) HFRET A Gaeh

KNOWLEDGE
76 [zldsc_ape is : 76. TUSTHY § :
| (A) A font style (A) A font style
(B) Paper size (B) Paper size

(C) Page layout (C) Page layout @
(D) Page orientation (D) Page orienta@
.

\0

77. A collection of unprocessed items are : 77. g
(A) Information ( Iformation
(B) Data @ Data
O

(C) Memory (©) Memory

(D) Report &Q% (D) Report

* .
78. Programs that are auto & loaded 78. WL HT YT & 4 ® < Program,

and operated as a rowser are automatic load X operate BT ¥,
known as : % #ed g

(A) Utilitie‘s. | (A) Utilities

(B) Plug-ins (B) Plug-ins

(©) Widgets (©) Widgets

(D) add-ons (D) add-ons

SPACE FOR ROUGH WORK / T% &Td & o s
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79.  Which of the following is program group ? 79. = d oF vt & R ?
(A) ~ Accessories (A) Accessories
(B) Paint (B) Paint
(C) Word (C) Word
(D) Al of above (D) ST |t
Q
80. Images included in many softwares titles ~ 80. dgd @‘Fﬁ% & @i MW =
are called : Image i . FEd 2
(A) Clip art ( art
(B) Popups ‘ Popups
(©) jpg files . OQ (©) jpg files
(D) .tiff files & (D) .tff files
&
81. Which key is use : ¢ohbination with ~ 81. R4 key o TRA TR kéy ¥ ury fafire
another key K@ra specific task ? Fr Y A F forg o wmar 7 2
(A) Fu@ (A) Function
(B) Spacebar (B) Spacebar
(C) Arrow (C) Arrow
(D) Control (D) Control
SPACE FOR ROUGH WORK / T% &1 & o sve
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82. are used in denial of service 82. fafyre w9 @ f93a websites T Tl st HART

attacks, typically against targeted (denial of service) % feTq £l
websites. LIS BT | -
— (&) Worm _______ (A) Worm
(B) Zombie (B) Zombie
(©) Virus (C) Virus
(D) Trojan Horse (D) Trojan Horse
83. The server on the Internet is also known  83. %% § Wt I 3R [ ST ST & 2
asa: ()
A) Hub A) Hube*
(4) (4) \ .
(B) Host B) H
(©) Gateway ©) w
(D) Repeater epeater

84. Which of the following is a medium of @s e § @ 9 STReye & e R ?

output ? %

(A) Scanner Q (A) Scanner
(B) Mouse & (B) Mouse
(C) Printer . \ (C) Printer

(D) Keyboard \Q‘ (D) Keyboard

85. In which view bacRground color will not  85. ¥ view H background color & fawar

be visible ? ®?

(A) Print Layout View (A) Print Layout View
(B) Web Layout View (B) Web Layout View
(C) Print Preview (C) Print Preview

(D) Reading View (D) Reading View
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(3) HINDI LANGUAGE /

91.

‘A TR IS TR’ 39 9 | i o

T fora &2
(A) FAHAIYH
86. ‘Scord w1 Hiu fa=e ¥ : (B) TTENH
(A) 3+ aW (C) el
(B) S+ (D) SXmefe
Q) I+@M
(D) ¥+ 92. STHRR % gera: fea il €2
87, Frefiio 8 quge TR Y e &
(A) ST o e O
® 3 (©) ?ﬁ:f
© - (D) *
D) ¥
93. B TETeR 1 3 ¥
88. AWK : RSl
(A) Q BY @i @
(B) w3 O (© garam
() dmeg (D) STEH TEe
(D) g weff

amﬁ'—rmwam ?

(C)El'Ci11Tc=ﬁ ’&

%ﬁ%‘w%q@mwﬁmmﬁ@aﬁ
- ®?

(A) =R
(B) <mS
(C) W’
(D) WrTe

&

94.

95.

M 6 g § e & e O R
Tehd © ?
(A) =
(B) =W
(C) uH
(D) ®:

dfga T g ?
(A) gferro
(B) o
© "=a
(D) fwm

SPACE FOR ROUGH WORK / % &Td & e sg
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96.

— anmexample of T

97.

98.

99.

100.

(4) ENGLISH LANGUAGE /
TS

HET

The expression ‘waste not, want not’ is

(A) Idiom
(B) Proverb
(C) Mlusion

(D) None of the above

Which of the following is not a synonym
of the word ‘satisfaction” ?
(A) Contentment

(B) Pride
(C) Fulfilment
(D) Bruise

I was pleasantly surprised by my exam
results.

In the above sentence the underlined
word ‘ pleasantly ’ is an/a :

(A) Adverb

(B) Adjective .
(C) Verb

(D) Conjunction

Choose the correctly spel

(according to British Englis

(A) Misery \
(

(€

(D

B) Mision ’)&\'Q

) Fullfiling

) Conven
‘Let us have n&he said firmly. ‘You

are coming.’
In the above sentence the word ‘but’ isa:

(A) Noun

(B) Conjunction
(C) Preposition
(D) Adverb

101. Select the correct one-word substitute for

‘one who walks in one’s sleep’.
(A) Agnostic
(B) Grouse

~ (C) Neomatic

(D) Somnambulist

102. Choose the most appropriate antorrym for

103. The window 10016
terrace.

ol

the word ‘Latent’.

(A) Hidden
(B) Forbidding
(C) Obvious

(D) Artificial

N

Fill in the With most appropriate

hour.
Fill in the blank with most appropriate
article.

(A) a
(B) an
(C) the

(D) None of the above

105. Choose the exact meaning of the idiom-

"at one’s wit's end.”

(A) To be very frightened

(B) To be aware of what is happening
around you and ready to think and
act quickly.

(C) To be so worried by a problem that
you do not know what to do next.

(D) To minimize expenses.
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(5} MATHEMATICS

(5) T

106. A dishonest shopkeeper buys an article ~ 106. T A WW 9 Eh;f ERES o
for 5% less than its value and sells it for wﬁﬁ-ﬁqﬁqs%mﬂﬁﬁﬁﬁw
5% more than its value. His gain qHT AT 5% i wiad | Afuw |
percentage is : SO R 1 1 gTa ey g
(A) 5% (A) 5%
(B) 10.25% (B) 10.25%
©) 12.5% () 12.5% &
(D) 12% (D) 12% 0
.. O '
107. The can contain a mixture of two liquids 107. T % ﬁm qarsq'f A iR B =1 fago
A and B in the ratio 7 : 5, when 9 liters of 7: % ﬁ.%l S fhago | 9 faex
mixture are drawn off and can is field B # fereran s %.'fﬁ A 3ﬁ'{B
with B the ratio of A and B becomes 7 : 9. ' 7:98 W ¥ @ YRy H FH
How many liters of liquid A was of At HE fepet o ?
contained by the can initially ? . O
(A) 12 o % (A) 12
(B) 15 \Q (B) 15
€ 21 & © 21
(D) 30 \ D) 30
2
.
108. In AABC, if 4)%@ d AB=AC, then  108. AABC ®, aft ZA=80° 741 AB=AC,
—é—A—--{'-AB‘i- C L W%+LB+£C=
2
(A) 80° (A) 80°
(B) 140° (B) 140°
(G 90° () 90°
(D) 180° (D) 180°
SPACE FOR ROUGH WORK / T% & & & srg
Set - A 30 0812/ MD-BDD/RCE-MA




109. An empty cylindrical container of radius 109. T @it S eR 9T foraant feen 7 8. qan
7 m and height 10 m is covered by a : S 10 7. ¥ vivarwR ot fort e
conical cap of radius 10.5 m and height 10:5 1. 7o FawE 9 . ¥ @ & R, @ i

__9m. Thevolume of the air rapped inside —— i g s &t

18

T
(A) 1039.5 m3
(B) 2117.5 m8

(C) 5775 m3 .

(D) 2579.5 m3 @ (D) 25795 m3
110. One fourth of a certain journe '&:&wd 110. W ff¥erm amn 1 & <o 25 faml /52 5t
d

at the rate of 25 km/hr, onesth t the Y ‘{Uf FW €, TH-Ta8r 30 ﬁﬁﬁ/ﬂ% i
rate of 30 km/hr a ® rest at ET@HWWSOW/@E&E‘('@,H\[W
50 km/hr. The av ed for the TS Tt T TR ©

whole journey i

(A) 600/53 km/hr (A) 600/53 Tt/ s

(B) 1200/53 km/hr (B) 1200/53 fe+t/ser

(C) 1800/53 km/hr (C) 1800/53 ferHt/sia

(D) 1600/53 km/hr (D) 1600/53 T/ sier
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111. Abhijeet purchased a cow for¥ 1250 and ~ 111. &fﬂ?ﬁ'ﬂ J T M T 1250 § @l € 1100
sold it for ¥ 1100. Then his loss percent #How €| a9 SH B Il ©
is:
(A) 11% (A) 11% :
(B) 10% (B) 10%
(© 12.5% (© 12.5%
(D) 12% (D) 12% @
112. A can finish a work in 24 days, Bin = 112. A fordt = H T TSl T, B
9 days and C in 12 days. B and C starts 9 fT & gen ¥ BeiR Ccowd g&®
the work but are forced to leave after EX VQ@E'T R 9 9N E, 9 FE A
3 days. The remaining work was done fer o fopan smam ?
by Ain:
(A) 7 days Q 7t
(B) 8 days . 0 @) 8fe
(©) 10 days % © 10 R
(D) 15 days ,&Q D) 15
* \ ) ] )
113. If the area of t jdcent faces are 113. 9fE Tk TIGERR 39 & 7 G Herehl
P, Q and R e ly the volume of QWW:P,QWR%@S’HW
solid wﬂ% 3 6T I BT
(A) PQR (A) PQR
(B) P2Q°R? (B) P2Q2R?
© JPQ+QR+RP ©) JPQ+QR+RP
(D) JPQR (D) JPQR
SPACE FOR ROUGH WORK / T% & & fo& <
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114. A circle is circumscribed around a square 114. T& 37 ABCD & =R 3R TF 99 W e

i 2
ABCD. The area of one of the four shaded AR Teh BIEICR YT HT AIFA = %,
st N S T
portion is equal to 7 The radius of the CIEEIRES K
circle is :
A B J é
5 Q)

()

Aa) 1 (A) 1

B) 2 ' ®) 2 0
© 43 ©

(D) 2v2 | . 22

D

115. A part of ¥ 38,800 is lent out at 6% p 115. ¥ 38,800 %1 Tk W 6% B: W& # R

/5

six months. The rest of the amo isYent JUR 1 T T I ST &=} AT Ay 5%
out at 5% perannumafterone edr. The e 1 X A TR ez T gom i &
ratio of interest after 3 years %m € time - R R WM % T o oy 9 aft %
when first amount wa fis 5 4. SIS 1 ST 52 4 T @ 5% JUR & T
Then the second part ent out at FGNRUR RS

5% is :

(A) ¥ 26,600 (A) ¥ 26,600

(B) ¥ 28,800 (B) ¥ 28,800

(© 27,500 (©) T 27,500

(D) ¥ 28,000 . (D) ¥ 28,000

SPACE FOR ROUGH WORK / T% &g % f&d Sg
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(6) GENERAL KNOWLEDGE

(6) |TET= AT

116, Who has distinguished among  116. fFTA ' sTervasar-foia & fefa’ 1 wgem

117.

118.

119.

satisfaction, pain and pleasure to reach
wantless state ?

(A) Marshall

(B) J.K. Mehta

(C) Paul Samuelson

(D) None of these

Who of the following was the Defence

‘Minister in the Interim Government under

Jawaharlal Nehru during
1946-47 ?

(A) Vallabh Bhai Patel
(B) Sardar Baldev Singh
(©) Dr. John Mathai

(D) Liyaqat Ali Khan

IS < ?
In which bill the President can e
sign ?
() Government Bill Q

(if) Finance Bill

(iii) Consﬁmﬁon‘%dment Bill

(iv) Money Bi .
4y @

® ";}'

© O\ W& i)
D) @ @ @) (iv)

Mirage is an incident cause by :
(A) Reflection

(B) Refraction

(C) Total Internal Reflection
(D) Diffraction

117. 1946-47 H

(
(B)
(
(

¥ o “wiqfie’, "’ o Care o
frm 82

(A) TRiA

(B) .3, Hea
(C) i Sxgesd
(D) T 9w 7@

Jew ¥ ool siaRm
TWHR § ATAHAY?
*
\‘
9 ME 9o
WER seed fig

é((:) gL, i AR
Q (D) forera sreh @t

118. & fades | Tgufq T=meR F3 ¥ TR
T TFHAT & ?

() R i

i) Toa fades

(iii) wfaum deeA fq9us
(v) o7 fadgs

A) ()

@

@ @) ()

@ @) @) (@)

9
)

v)

119. T FfEeh T He § Foe wror g

(A) &
(B) STgerEd
(C€) o el Ted
(D) foada

Set -
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120. Which of the following pair (Fairs of this

state and their dates) is correctly
matched ?
()

121.

Purnima
(B) Khallari Fair - Magh Purnima
(C) Girodpuri Fair - Paush Purnima
(D) Turturia Fair - Chaitra Purnima
Proclaims

Supposing. President

~Constitutional Crises in a State, in the

meanwhile Lok Sabha dissolves, what will

be happened ?

(i) Proclaimation of Constitutional
Crises must be approved by the
Parliament.

(i) As the Lok Sabha is dissolved, no
Constitutional Crises can be

continued.

(iii) Rajya Sabha can approve the o
Proclaimation of Constitutional
Crises to continue.

(iv) After new election of Lo @
within a period of two ths
Sabha’s approval is &s ial to
continue the Proclaj

(v) After new elec ok Sabha
from the dat tmg of Lok

Sabha with
approval of Lok Sabha is essential

h1rty days the

to continue the Proclaimation.
(A) © @ @)
B) @ @) @)
© @ (@) (@)
D) @ @) ()

Mahadev Ghat Fair - Kartik

120.

frerferfia § @ B S (2w T F
s 37 fafuel) gafem €2

121.

(A)TERE T o - wRE g

(B) Wil Wel - Tre gfvtar
(©) Ty v - gy gfvfa
(D) TR Her - & gfefen

T e, et J fEE
ez ST, T
B, a7 AT 0

IELIEED
1 faufea

() wifaefr BT W HGE

i

(i) Q;qmﬁsrﬁaaﬂé%,w

Tehe ST T <@ 1 el |

iff)  iferefer Wehe i ST Bl S T
%mmmwﬁ?ﬁréaﬁ%i
g % 79 Frafed ¥ IR T H
srafy & e Swom & S W@ 6
ﬁq@wwaﬁﬁmw%l

(iv)

(v) <REYl % 9 fraien & oI disa
Y Yl S W A foi o e siwon
& SR T % fo crera it wWiepfa
AT T

@ 6 @ @)
B @) @) )
© @) @) @)
O 6 G ©
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122. Who was awarded Gyanpeeth Award in
Bangla ?

122. e H el IEUIS AR Ww g1 ?

(A) Raghuveer Choudhari———
(B) Shankha Ghosh
(C) . Balchand Nemade

(D) None of above

123. Which of the following is the biggest
National Park of this state ?

(A) Indravati
(B) Kanger Valley

(C) Guru Ghasidas "

124. Solar eclipse occur v \

(A) thee rt@reen the sun and the

(B) the ; oon is between the sun and

the earth

(D) Kuturu

(C) the sunis between the earth and the
moon

(D) none of the above

123. 39 T I

>

A} TgER =gl
(B) Y@
(C) 9erE=< S

(D) SR H

T W%G@?@%WSTWW
@&ﬁ
) I SR
(©) TR =T

(D) P&

124. T3 TR 1§ 5 ¢

(A) 9ot gd wE g HeR 3N St ¢

(B) == g wd geeft ¥ wem o Sl €

(C) g4 geht Td wEn & Ted o = §

(D) SR H | TR
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125. Which is essential element of human
wants ?

(A) Effective desire

(B) Sufficient resources to fulfil it
(C) Willingness to spend

(D) Al the above

126. Stephen William Hawking was a :

(A) English theoretical physicist and
cosmologist

(B) American cosmologist and
theoretical physicist

125. FET STAHASH % SNowTH T Bt
¥?

(B) 39 YU w % vaiw gurme

(C) =9 HA Ht T

(D) 3w weft

HIEHATE

C) German theoretical physicist and ¢ NS 'ﬁ@ﬁtﬁﬁﬁ Tifaws wreh RN
T O

cosmologist

(D) None of above &Q
X

L 2
127. No. of Islands in mdi?&&
(A) 247 Q

(B) 374
(C) 274

(D) 347

(D) U § T &

127. WA ¥ foha gia §2
(A) 247
(B) 374
(C) 274

(D) 347
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128. Which  of . the

following  pair
(assassination of British officials and
revolutionaries) is mnot correctly

128. Ty=fafaa § @ S e (fafew st

1 g T ShIfeRRY) i Tl © ?

129,

matched 7

(A) Plague Commissioner Rand and
Ayerst - Chapekar Brothers

(B) Curzon Willie - Madanlal Dhingra

(C) Mr. Saunders - Bhagat Singh,
Rajguru and Azad

(D) Mr. Steven, District Magistrate of
Tippera - Surya Sen

What will be effect o @ when
marginal utility bec \

(A) Tota%&dmes,

(B) Total utility increases.
(C) Total utility is maximum.

(D) Total utility becomes negative.

XX

(A) 7 HHFR TS ik TR - = Y

(B) Eﬁ?aﬁaﬁ&v\?fw
©) o ﬁr\@ Tt e, Toge 3 STee
9 fedr & foen A f1. ©e - g
|

129. wﬁmmﬁmvﬁawﬁ%ww

YA R AT 9T B 2

(A) F IR FA A T

(B) F ST Sg I ¥
(C) et SRl stfreram B St 2|

(D) %1 ST HoneHeh & STl ¢
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130. What is the formula to calculate the value 130. TgUfd & I & Hed & faymay & gew
of a vote of member of the Legislative % Tl 1 Yo T AT T YT 182

Assembly in the context of the election of
President ?

Population of the State T 1 STHE
(A)  The total no. of members of (A fayrmar ¥ ge=
Legislative Assembly = T wem
. Population of the State R g

(B)  The total no. of elected members (B) S — ’\
of Legislative Assembly )

Population of the State
The total no. of elected
members of Legislative

+ 1000 ©

Assembly

Population of the State Q T ] SAEE
® e otal <00 (O frormon & e %10

The total no. of elected

members of Legislative ewl H o wen
Assembly : &Q
. \ o
131. Who of the following lit :@ of this 131 '{Q\Tst THRN' & e 3 T & FrAfafed

state was the a f ‘Khoob H 9 B wifecsr 92
Tamasha’ ? Q
(A) Baldev Prasad Mishra (A) weRd THE fug
(B) Gopal Mishra (B) irret fag
(C) Makhan Mishra (C) urEH fHg
(D) Babu Rewa Ram (D) &Y TH
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132. Which of the following pair (session of 132. Trafafeg § @ S G (YR T2

Indian National Congress and its HING 1 AT TS IHh L) gafed
President) is correctly matched ? ®7?
“(A) 1938 Haripura - Jawaharlal Nehra ~ (A) 1938 BRI = SHmewere Gida
(B) 1940 Ramgarh - Dr. Rajendra (B) 1940 TG - El. Tols: JEIG
Prasad
(C) 1946 Meerut - ].B. Kriplani (C) 1946 TS - Sl I
(D) 1947 Delhi - Abul Kalam Azad (D) 1947 < ETSIERCIE
_ : ():

133. 1 gm fat release energy. 133 ﬁ [ETRIEE] m?ﬁ W ¥ 2

(A) 5k Cal , | Q k. Cal
(B) 7k Cal Q B) 7k Cal

(C) 10k Cal = ¢ (©) 10k Cal
(D) 9k Cal . & ®’ (D) 9k Cal

134. Who had dele\'Aomlcs as science 134, srefere 1 ¢ wifiaan a1 e w1 e

of scarcity, forem aftenfia foman an?
(A) Adam mlth (A) TeH oy

(B) Marshall | (B) W

(C) Robbins (©) s

(D) JK. Mehta (D) .. Tl

“SPACE FOR ROUGH WORK / T A & fad s
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135. Who founded ‘Dudhadhari Math’ inthe 135. 9 IH ! TSIEH & U 93" &t e

capital of this state ? TR & ?

(A) Laxmi Naraya_n Dﬁ A [ 21 e+ < AR
N (B) Ramdas (B) THHE

(C) Balbhadra Das (C) <&vE <™

(D) Dharmdas (D) YHE™ @

136. For which of the following Gandhiji =~ 136. F=fafea & @ ﬁﬁ'@ﬂ TSt 7 wWER

admitted that it was his ‘mistake of forar ot s ‘feueTa % STER H
Himalayan magnitude’ ? Tl oft 2
(A) Satyagraha against Rowlatt Act (A % foreg wmwE

(B) Khilafat Movement @ e
O

(C) Non-cooperation Movement % (C) 3THAM STRer
(D) Quit India Movement (D) YRd SIS A&

137. Kaktiya dynasty had mQﬂms area of 137. A T & 39 49 W wedg 99 3 M

this state : foram o1
(A) Sarguja (A) U
(B) Chhuikhadan (B) TIEIH
(C) Bastar (€ &R
(D) Jashpur (D) SR
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138. Island of Arabian Sea is : 138, 31 9IR ¥ frem g9 2

(A) Aliabet (A)  feamsE
————————{B)—Shree Harikota : (B) drsRenra
(C) Andaman (C) seur
(D) Nicobar (D) TreREmR
139. What is not correct ? 139, FNEA TR &2
(i) The tenure of Legislative Assembly (@ Taurw 5 s B g
is five years.
(i) The tenure of the members of (i) ¢ W%’gﬁ weEl 1 HEwE U
Legislative Assembly is five years. 7
(iii)y The tenure of the Legislative T % R HI T A
. } Assembly is counted from the date gftom skt sioon it fafer & 9 2
of declaration of election result.
(iv) The tenure of the Legiﬁa@ (iv) faurasm % HEAHBE S TN GUH
Assembly is counted from gitrer it fafa & =t 9 B
of first meeting.
(v) Inaby-election a&e js elected (v) SU-TIE H G org ad % feg g
for five years. ST
(vi) In emerge \e tenure can be (vi) ORI T faumEa % g SRwe
extend gislative Assembly. ¥ gf it 1wl 2!
(vii) &ency the tenure can be (vii) STIIERIE T GOg & R HHEHA k|
exgde'd by Parliament. gfg & <1 ghdl 2
(A) () () (v) (vii) (A) @ (@) (v) (vi)
(B) @) (@) (v) (vi) (B @) @) (v (vi)
@ @) @) ) () © @ @) ) ¢
® © @ © &) - O & @ @ ©)
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140. Area of India is : 140. YRT 1 ATFA T :

(A) 32,87,663 km? (A) 32,87,663 T TeaHtex
T (B) 3287326 km? (B) 32,87,326 il femeiiex
(C) 32,87,623 km? (C) 32,87,623 & foaimeR
(D) 32,87,263 km? : (D) 32,87,263 =7 fepeariey

141. Origin of Sutlej River is : 141. IS S H W@a T

(A) Dhauladhar Range (A)
(B) Pirpanjal Range @Nﬁﬁ goft
(C) Rakshastal . &) &I
(D) Karakoram % (D) HRHA
<
A\ ,
142. Ganga of South India j . 142. <fRI9 YR S 777 HE S S

(A) Kaveri Q\\' (A) FE

(B) Krishna (B) Fom
(C) Pennar (C) R
(D) Narmada (D) Bl
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0812/ MD-BDD/RCE-MA 43 Set - A




143. Which of the following pair (Central
Public Sector industries in this state and
locations) is not correctly matched ?

(A) Super Thermal Power Station -
Korba

(B) South Eastern Coalfields Ltd. -
Bilaspur

(C) Cement Corporation of India -
Mandhar

(D) South Eastern Railway Wagon
Workshop - Durg

143, Frefafed § 9 =9 9@ S (38 T3 4§ R
FHrg ESTE O AN UG 396 W)
gifem 8 22

(A) R o TR VYA - FRE

(B) WY T=H wawiegy fafee -

144. Match the following rivers of this staw 4 T # fafafaa Afedl = ST 98Es

with their tributaries : R wfed & qrg 'ﬁﬁﬁ;ﬁ Hifsg
(a) Mahanadi @) @ (a) W () @
(b) Shivnath Kotari (b) TRy @) @O
(c) Arpa o\u Peri (c) IR (i) T

‘ .
(d) Indra&&Q (iv) Maniyari (d) (iv) #fER

(A) (m (b) - @), (c) - (i), (d) - (i)

(B) (a) - (i), (b) - (i), () - (iv), (d) - ()
©) (a)- @), (b) - (i), (o) - (i), (d) - @v)
(D) (@) - ({v), () - (@), (c) - (i), (d) - (i)

(A) (a) - (i), (b) - (@v), () - (i), (d) - ()
(B) (a) - (i), (b) - (i), (c) - (). (d) - ()
(©) (@) - (), (b) - (i), (¢) - (iti), (d) - (@)
(D) (@) - (iv), (b) - (@), (c) -.(id), (d) - (i)
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145. Which of the following is not a crypto ~ 145. T/ ¥ § &=t fre qer =& €2

currency ?
__ (A) Ethereum (AyARIT
(B) Bitcoin (B) foeshig

(C) Ripple ‘ (C) = @

(D) Lightcoin (D) W’ﬁ'&g’
O

é

146. In the recent election who is elected Chlef‘i “t»pf & A H AMRITE e o3t A

Minister of Nagaland ? T T4 ?

(A) Biplab Kumar Deb \& (A) fo<rd HAR <
(B) Conrad @Q (B) TS WA
(C) Neiphiu Rio (C) wg &

(D) None of above (D) S H His Tb’"T
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147. Who makes rule about the procedure of 147. €O % HIH T 1 gisrar & fowa | FEm

joint session of Parliament ? A ST R ?

(A) President (A) TgHfd

(B) Parliament (B) HHY

*(C) President with the consultation of (C) TrwE G aicy 1il'{'l'ﬁf?f R Tgufa

Speaker of Lok Sabha

(D) President with the consultation of (D) T & Tfwt T TSIEEl

Speaker of Lok Sabha and the [umfd & g
Chairman of Rajya Sabha
.. ©

& N .
148. Match the following socio-religious  148. —gd e H STH
movements with their founders : ‘ o gAfer HeY

(@) Dharma (i)  Shivnarayan @HW G  Torermer st
Sabha Agnihotri Q

(b) Paramhansa () Tulsi Ram ’E O (b) TRH el (if) gorst T

Mandali

(c) Radha Swami (i a& Dev () TererHl W (i) THTRE <
Satsang

(d) Dev Samaj Q}ao a (d) <& wHS (iv) <R aig

andurang

(A) (a)\Qﬁ) (iv), (c) - (i), (d) - (3) (&) (@) - (@), ®) - @), (© - (), (d) - @)
(B) (a) - (i), (b) - (v), () - (i), (d) - () (B) (@) - (i), (b) - (v), () - (i), (d) - (@)
©) @ - (i), ®) - @), (© - @), (d) - (i) C) (@) - (v), (b) - (i), (©) - (), (d) - (i)
(D) (a)- @), (b) - (iid), (c) - (iv), (d) - (i) (D) (a) - @), (b) - (i), (o) - (), (d) - (i)
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149. Xi Jing Ping is appointed President of  149. I f57 fin 5= & Tﬂg‘fﬂ ﬁﬂﬁ\"f ferw a

China for :
(A) thenextterm (A) MM sEsEsfo
- (; for the next five year (B) P Uiy oY ¥ ferg
v (C) for no limit to the tenure (C) T ot g WA el
(D) None of above (D) ST H #iE el
Q
150. Human milk contains sugar per 100 ml : 150. WY % g9 ‘3 100 ml # ve=p Hi

lESRIKIEN KO

(&) 7gm (A) 7@
® 5gm (56§’\
© 4gm N &4@1

(D) 9gm

-000- ‘\\ -00o0-
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Ivas

SET - A
I SifRa hTA BT WA : 3.00 W { arfaeRay 3 : 150
Time for marking answers : 3. - — Maximum Marks : 150
Hqe : 4 5
1. 29 WA-gfent ® ey S
(1) @ IE e - 175
(2) IR TE GoEl - 76-85
(3) Te< v - 86-95 @
(4)  STUS v - 96-105 0
(5) T - 106-115 ¢ .
(6) WM © - 116-150
TF T 1 376 F B Pl 150 T FA AAErd |OQ
2. UE ¥ SR, @ T OMR TR-WE (STeR-1e) AT RISl
3. Toiq IO SifRd A WX 1/4 3 I
4. g off 7@ ¥ Hogared A1 A o P o FENT Afsa B
5. OMR SWR-3e (STH-¥T) H g U FE STEEEE 7 /I e 98 W 5 @
¥ s = faaae anfg T ®Y 9% T B S |

Note : \ I
1.  This Question Bookl consists of Parts namely :

(1) Knowl ating Account - 1-75

(2) eRBlated Knowledge - 76-85

(3) nguage - 86-95
(4) English Language : - 96-105
(5) Mathematics , - 106-115

(6) General Knowledge - 116-150

Each question carries 1 mark. All 150 questions are compulsory.

2.  Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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